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= 64,451,040
HHSAAY (HE XK 58,119,824 52,221,437 5,898,387
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olEady|(s2) 57,602,130 51,724,627 5,877,503
= 10,762
o 461
= 57,590,907
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101 e1214| 45,551,187 40,566,664 4,984,523
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OZBRJAGYUE A 500,000,000& 500,000
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& 25,200
= 78,800
&2 XS ALK S 15,000 10,000 5,000
307 212t0| & 15,000 10,000 5,000
04 SIZ2HSHAAISHE E X 15,000 10,000 5,000
OXHEZ NIASALALHS 15,000,000& 15,000
S0 cHERAS AR HAE A 22T 988,362 727,331 261,031
& 20,000
= 968,362
oMy FA 31,690 34,280 A 2,590
LN ARSO0IEI 2 26,440 24,880 1,560
201 gBt2Ay| 14,440 13,480 960
01 A2t 2| H| 14,440 13,480 960
OIS0l 2EUE AARY ¢
200,000 x5 % 13| 1,000
O FRS0lel Z2UEDAN ROl
1,000,000& 13| 1,000
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0y
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SN HH-S(BN) - MBAY - B il HlnE2
OdRS0tel =&l 8,000& x60Y *53] 2,400
Od7s0te 23+ 80,000& »13& 1,040
OdRs0tel A3As 9,000,000& 9,000
202 oddl 3,900 3,900 0
01 = LH o4 1l 3,900 3,900 0
OH5=0tel #x o 300,000& =134 & 3,900
303 L& 3 8,100 7,500 600
01 Z& 3 8,100 7,500 600
OsdZS0tel &% 500,000& »15H 7,500
Og=zS0tel Al&3 200,000 =304 & 600
O - AEHF 5,250 9,400 24,150
201 et 3,000 5,000 A 2,000
02 =224l 3,000 3,000 0
OR35S M CHAI A El (s/w) 2el28Y
250,000& »12& 3,000
303 Z &3 2,250 4,400 AN2,150
01 L& 3 2,250 4,400 22,150
OGOODOHOICIH =& =Mt A&t 2,250
-z 200,000& »x2H 400
—ox 100,000 x4 400
- &d 50,000& x17H 850
—Heotgts =1t 20,000& *30H 600
X HE TS 956,672 693,051 263,621
< 20,000
s 936,672
QIZHELA X & 23,900 28,400 A 4,500
201 LBt 4,000 4,000 0
01 At 22l 4,000 4,000 0
OgIztetd R EEH 100,000& =404 4,000
301 LBEAZ 13,400 20,400 A7,000
09 #HALAHIXIE S 13,400 20,400 A7,000
OZgu= 20,000& x30H 600
OMOIESXNEX 1= 80,000 x2 80X 12,800
307 21201 A 6,500 4,000 2,500
02 QIAtFAAHEX 4,500 2,000 2,500
O=g &Mote & = 1,500,000& 1,500
Oztsz As 3,000,000& 3,000
04 QIZFHALAIH B & 2,000 2,000 0
OglssgY =2 2,000,000 2,000
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AxEE S
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SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
QIZHEA XK/ (EBX) 22,000 26,000 A4 ,000
== 11,000
= 11,000
301 et A= 22,000 26,000 A4,000
o= 11,000
= 11,000
02 Zet=2dex=2 22,000 26,000 A4 ,000
OMOISXEX 4 &s2 22,000,000 22,000
& 11,000
= 11,000
FOXXNAEHSE 563,580 442 900 120,680
201 LBt | 159,360 67,760 91,600
01 AP 22| d| 91,860 13,260 78,600
OFUXXNEEH 2K 1,500,000& 13| 1,500
OFQURXI s &AL
70,0003 «12& x14 11,760
OFURX (/N3 EFALH(SH)
30,0003 x 128 *x30Hx7=5 ™ 75,600
OFOIXNE Z22AHHA EAIYE EESHEH
3,000,000& 3,000
03 HAI2 G HI 67,500 54,500 13,000
OF0UXIXNFE 385 & BAUHS
7,000,000& *13] 7,000
OF0I XXl SHOLE &AL 1,500,000 x75H 10,500
OS89 FOUINXEES L LefXe
39,000,000 39,000
OO0l =3 2,500,000 x35 ™ 7,500
OXO0Jt=E =2 XX & W 500,000& x75H 3,500
301 et A= 345,220 375,140 N 29,920
09 HAIAHI X & 2 25,220 87,140 A61,920
OF0XXPE BE 20,000 30X 600
OFQ XX A3 dXI0F 30,000& x14H 420
OFUIXIAH ASH(SH)
30,000& x30Y »x23| x75 A 12,600
OFQIXXIESHOLE AP EIIE A
500,000&*x75H 3,500
OF0xs3 EAHLAZ 10,000 *30H »35 ™ 900
O2URAA3 AL AZ
10,000& *501 = 0} x8H x6 & »35 ™ 7,200
12 JIEtE A2 320,000 288,000 32,000
OFNXZZOH A2 (SEH)
320,000,000& 320,000
307 2izto| A 20,000 0 20,000
02 QIZIA AAIE E X 20,000 0 20,000
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ORI EAESESE=))
10,000, 000& 10,000
OESIPUPNE=] s EIHE, &®=)
10,000, 000& 10,000
405 XHoHF S HI 39,000 0 39,000
01 ML ESFEH 39,000 0 39,000
O=2 &3 FEEIIA 2
39,000,000& =14 39,000
MOIEXE 44X 88,447 66,351 22,096
307 21201 A 88,447 66,351 22,096
02 It S AIHE L 30,049 15,844 14,205
O K= ot 1,200,000& 1,200
OgEEN ! 6,500,000 6,500
OH’I402 CH =AU
2,745,000 2,745
Osgss 8,320,000& 8,320
O&=Z MOt =l 8,440,000 8,440
Os=2XE&EX 704,000& 704
O& M 558,000& 558
Oo¥s A& 1,582,000 1,582
03 BI2HEHHI S 58,398 50,507 7,891
OMDt=3l 58,398,000& 58,398
MOtE2 & D12 8,145 3,450 4,695
307 g1+l & 8,145 3,450 4,695
04 QIZFHALAIH E = 8,145 3,450 4,695
OHM1038 MOtS2 ¢ J1ZE4A 8,145,000 8,145
MOIEX & X 8t0tS 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 212t ALAL 15,000 15,000 0
OMOISXNEXR &0t tal 15,000, 000& 15,000
HEANZII2S £2 28,140 24,200 3,940
307 21201 A 28,140 24,200 3,940
02 BIZ2HA &f A 11,940 8,000 3,940
o4t et = 3,000,000& 3,000
O&Msdt= S =04 0202l
w2 HAEZ &z e)
5,140,000 5,140
O&s=3¥& 2z &t
2,600,000 2,600
OdIH= 2z &t
1,200,000 1,200
03 BI2HEHHI S 16,200 16,200 0
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& A X2 ot
S0l ERSHAX
AxEE S

02
0
12
U
0y
ol

SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 AFR2t2ltl 4,520 4,520
OFAMXNEZZ Y2 (012N BAMEZ EE
wA)EHI Yt 4,520,000 4,520
301 etE2H = 36,360 36,360
12IJEEd=S 36,360 36,360
OodgdsXt &2 = SHRA(JNET)
600,000& 108 6,000
Ot dxu=x(MEE)
30,0003 *3Al 2++44 3| 3,960
OYA0tls FUSHSUF (W)
30,0003 *2 Al 2++423| 2,520
OFUXXNEZNH2H 23,880
—HIH(M,2=20,IIEH)
30,000& *3IH x 100 Al 2t 9,000
—0l2H(YANSZ, E214) 14,880,000& 14,880
307 21201 A 48,500 48,500
02 AHFHYANEEX 24,500 24,500
OH=42 2al & & 10,000,000& 10,000
OF2UXXNEd3 XA 14,500
— SUHH(UE3 Y SBHdl= AFO 2
ZUE0I1) 4,500,000 4,500
— o (st 2 ST L HHEAY)
10,000,000& 10,000
04 BIZHHALAIRH 2 & 24,000 24,000
OFTXSd3 XA 24,000
—SasS(MMEA ALl AAA IR &
e ik X1 CH) 20,000,000& 20,000
—Ho(H3sH Z2sdZ 2J1UH3)

4,000,000

4,000




